
E 3534-0813

EPA

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15 8

7

16

17

18

19

20

21

22
23

23

24

25

26

15

27 28

29 30

31

32



E 3534-0813 

Position 

Ref.No. 
Repère 

Posizione 

Posicion 

Menge 

Quantity 

Quantité 

Quantita 

Cantidad 

Teile-Nr. 
Part-No. 

No. Référence 

Nr. d'Ordine 

No. Referenzia 

Hinweis 

Hints 

Indications 

Indicazione 

Indicaciones 

Position 

Ref. No. 
Repère 

Posizione 

Posicion 

Menge 

Quantity 

Quantité 

Quantita 

Cantidad 

Teile-Nr. 
Part-No. 

No. Référence 

Nr. d'Ordine 

No. Referenzia 

Hinweis 

Hints 

Indications 

Indicazione 

Indicaciones 

1 1 11001384   31 1 20025287   

2 1 10017233   32 6 20029007  VSK 6 

3 6 25038072  DIN933-M6x12        

4 1 21000754          

5 1 11001269          

6 1 11001270          

7 4 25044014  DIN912-M10x35        

8 4 20029001  VSK 10        

9 1 11001398          

10 2 20033005          

11 2 11001229          

12 2 25027023  DIN914-M6x12        

13 1 11001610          

14 4 25044001  DIN912-M5x20        

15 8 21000835          

16 1 11001385         

17 2 20026396         

18 1 11001386         

19 1 11001389         

20 1 11001390           

21 2 25044003  DIN912-M6x20         

22 2 20029015  VSKZ 6         

23 2 21000115           

24 1 20008007           

25 1 21000757           

26 1 20012090           

27 1 11001609           

28 1 21000837           

29 1 20022013  Tensilock M10x20         

30 1 21000839           

07.16        


